DHOFE E4m (3A) BR IEHRAR

BEEFH ISEEH BE
E g = 1 48 48.0 a—Fk TE=E=4 EEFH IEEEHK =
Z R &£ = 88 1, 408 16.0 11 1411 KB (2DK) 1 22 22.0
& F 89 1, 456 16. 4 11 2100 TEE 1 16 16.0
11 2211 INE (2DK) 1 3 3.0
2R —RiETFA
1 2300 SR ET 3 24 8.0
ok =4 BRFH | BBEH | HE 1| 4750 8B BRI 2 2 1.0
10 2211 VB (2DK) 1 54 54. 0 y 6291 A ) 5 25
10 2300 A T 2 68 34.0 n o m 0 - .
10 2740 mEmAESE3 1 9 9.0
10 2830 INEE 1 8 8.0
10 4030 THERIL 1 14 14.0 EX ERA (EHE - DAREIEE)
10 4100 WA 2 14 7.0 a—F FEE4 BEEFYH IEEEK xR
10 4200 TR 2 4 2.0 12 1120 %H 1 22 22.0
10 4211 THEEH (2DK) 1 9 9.0 12 1510 TETTH K A 1 29 29.0
10 4300 TR 2 0 0.0 12 2031 ZE& (20K) 1 29 29.0
10 4750 T 4 25 6.3 12 2300 AR AT 2 25 12.5
10 4752 | BWAMETIE (20K) 1 4 4.0 12 4431 & (DK 1 25 25.0
10 4820 AKRERD 2 7 3.5 12 4750 B8R 1 13 13.0
10 4920 A% 1 3 3.0 12 4911 B)IIxK 1 12 12.0
10 4921 A (2DK) 1 2 2.0 12 6102 B (20K ) 1 14 14.0
10 5300 =il 1 0 0.0 N E 9 169 18.8
10 5620 HES3 2 8 4.0
10 6100 HEH 2 19 9.5
10 6221 THESE)I 1 57 57.0
N E 28 305 10.9




TR MNFRK- BEER

HE BHeER
a—+F FEEHL BEFH SEES =X
34 6522 &£m  (1DK) 1 48 48.0
N FE 1 48 48.0

TR HEER
mE jeer BEFY BHEH S
14 1412 X& (1DK) 2 241 120. 5
14 3300 Pu) 2 23 1.5
14 3410 L F 1 51 51.0
14 4300 LEE 1 12 12.0
14 4850 HER 1 2 2.0
14 4922 AXK (1DK) 1 15 16.0
14 5600 AREI 1 1 1.0
14 5610 ARE2 1 11 11.0
14 5801 =1 1 9 9.0
14 6232 HmEHE (10K 1 114 114.0
14 7052 =& (1DK) 1 23 23.0
N FE 13 502 38.6

a—F FE4 BEEFH ISEER E=x
1A 4300 LEE 4 12 3.0
1A 4500 e (EV& L) 3 4 1.3
1A 4501 e 1 19 19.0
1A 4800 AKX 1 1 1.0
1A 4801 AX (FaRY) 1 1 1.0
1A 5300 [0 1 3 3.0
1A 5610 ARSE2 3 6 2.0
I &t 14 46 3.3
TR VANR—NISUT (BHFER)
a—F FE4 BEEFH ISEEH B=x
17 1310 A —=TIEE (&) 1 71 77.0
17 2420 =k ) 1 122 122.0
17 4750 B RETE 3 45 156.0
17 4820 AXRFA 2 28 14.0
N & 7 272 38.9
TR VLNR—NAISVS (HFER)
a—F FE4 BEEFH ISEER E=x
18 2420 =k ) 1 16 16.0
18 4750 B RETE 1 5 5.0
18 4820 AXFA 1 4 4.0
N Bl 3 25 8.3




TR BHIER (EFR)

mE eor BEFY BHEH S
20 1700 /N 1 11 11.0
20 4300 LR 1 3 3.0
N FE 2 14 7.0
2R RIER (BHEFR)
a—Fk FEEHL BEFH ISEEH =X
24 5500 BEm X 1 3 3.0
N EF 1 3 3.0
R RHIER (MRE- BHER)
a—Fk FEEHL BEFH ISEEH =X
2A 4801 AKX (Fasry) 1 0 0.0
NE 1 0 0.0




